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Roll No. ...................................  

DD–2046 

B. Com. (Part III) EXAMINATION, 2020 

(Group—II : Compulsory) 

Paper Second 

MANAGEMENT ACCOUNTING 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 25 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- izca/kdh; ys[kkfof/k ls D;k vk’k; gS \ blds eq[; ;a=ksa vkSj 
rduhdksa dh foospuk dhft,A 

What is meant by Management Accounting ? Discuss its 

main tools and techniques. 

vFkokvFkokvFkokvFkok    
(Or) 

vxzfyf[kr fooj.k ls LdU/k vkorZ vuqikr Kkr dhft, % 
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       ` 

¼v½ foØ; 3]20]000 

 ldy ykHk vuqikr foØ; ij 25%  

 izkjafHkd LdU/k 31]000 

 vafre LdU/k 29]000 

¼c½ izkjafHkd LdU/k 20]000 

 vafre LdU/k 10,000 

 Ø; 50,000 

 vkod eky HkkM+k 5,000 

 dqy foØ; 1,00,000 

 udn foØ; 10,000 

¼l½ foØ; 4,00,000 

 ldy ykHk  ykxr ij 25%  

izkjafHkd LdU/k vafre LdU/k dk 1

3
 HkkxA vafre LdU/k foØ; 

dk 30%A 
From the following particulars, find out stock turnover 

ratio : 

            ` 

(a) Sales 3]20]000 

 Gross Profit Ratio 25% on sales 

 Opening stock 31]000 

 Closing stock 29]000 

(b) Opening stock  20]000 

 Closing stock 10,000 

 Purchases 50,000 
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 Carriage inwards 5,000 

 Total Sales 1,00,000 

 Cash Sales 10,000 

(c) Sales 4,00,000 

 Cross profit 25% on cost 

Opening stock was 
1

3
 of the value of the closing stock. 

Closing stock was 30% of sales. 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- jksdM+ cgko fooj.k D;k gS \ blds eq[; mi;ksx rFkk lhek,¡ 
crkb,A 
What is Cash Flow Statement ? Discuss its main uses and 

limitations. 

vFkokvFkokvFkokvFkok    
(Or) 

31 ekpZ] 2018 vkSj 31 ekpZ] 2019 dks ,d fyfeVsM dEiuh ds 
vkfFkZd fpës fuEu izdkj Fks % 

lerk vkSj nkf;Rolerk vkSj nkf;Rolerk vkSj nkf;Rolerk vkSj nkf;Ro    
jkf’kjkf’kjkf’kjkf’k    

31-3-18 

(`̀̀̀) 

jkf’kjkf’kjkf’kjkf’k    
31-3-19 

(`̀̀̀) 

va’k iw¡th 45,000 65,000 

lkekU; lap; 5,000 7,500 

ykHk&gkfu [kkrk 10,000 15,000 

?kVk;k %?kVk;k %?kVk;k %?kVk;k % izkjfEHkd O;; (1,000) (500) 

_.ki= 10,000 20,000 

ysunkj 8,700 11,000 

 77,700 1,18,000 
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lEifŸk;k¡lEifŸk;k¡lEifŸk;k¡lEifŸk;k¡    
jkf’kjkf’kjkf’kjkf’k    

31-3-18 

(`̀̀̀) 

jkf’kjkf’kjkf’kjkf’k    
31-3-19 

(`̀̀̀) 

LFkk;h lEifŸk;k¡ 46,700 83,000 

LVkWd 11,000 13,000 

nsunkj 18,000 19,500 

jksdM+ 2,000 2,500 

 77,700 1,18,000 

dk;Z’khy iw¡th esa ifjorZu dh vuqlwph rFkk dks”kksa ds lzksr ,oa 

iz;ksx dk fooj.k rS;kj dhft,A 

The Balance Sheet of a limited company as at 31st March, 

2018 and 31st March, 2019 were as follows : 

Equity and Liabilities 

Amt.  

31-3-18 

(`̀̀̀) 

Amt. 

31-3-19 

(`̀̀̀) 

Share Capital 45,000 65,000 

General Reverse 5,000 7,500 

P & L A/c 10,000 15,000 

(–) Preliminary Exp. (1,000) (500) 

Debentures 10,000 20,000 

Creditors 8,700 11,000 

 77,700 1,18,000 
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Assets 

Amt.  

31-3-18 

(`̀̀̀) 

Amt. 

31-3-19 

(`̀̀̀) 

Fixed Assets 46,700 83,000 

Stock 11,000 13,000 

Debtors 18,000 19,500 

Cash 2,000 2,500 

 77,700 1,18,000 

Prepare a schedule of changes in working capital and 

statement of sources and application of funds. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- izoh.k fy- ds fuEufyf[kr ys[kkadu vfHkys[k miyC/k gSa % 

o”kZ 
foØ; 
(`) 

ykHk@gkfu 
(`) 

2018 25]000 5]000 (gkfu) 
2019 75,000 5,000 (ykHk) 

Kkr dhft, % 

(i) ykHk&ek=k vuqikr 

(ii) LFkk;h ykxr 

(iii) o”kZ 2018 ,oa 2019 ds fy, lhekUr ykxr 

(iv) le&foPNsn fcUnq 

(v) ` 10]000 ds ykHk ds fy, lqj{kk dh lhekA 
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Following records are available from the accounting 

records of Praveen Ltd. : 

Years 
Sales 

(`) 

Profit/Loss 

(`) 

2018 25]000 5]000 (Loss) 

2019 75,000 5,000 (Profit) 

Find out : 

(i) P/V Ratio 

(ii) Fixed Cost 

(iii) Marginal Cost for 2018 and 2019 

(iv) B. E. P. 

(v) Margin of Safety for the profit of ` 10,000. 

vFkokvFkokvFkokvFkok    

(Or) 

,d dEiuh ds ykxr&ek=k&ykHk fo’ys”k.k dks lehdj.k 

2, 40, 000 0.7y x= +  }kjk of.kZr fd;k x;k gS] ftlesa 

x  foØ; dks vkSj y  dqy ykxr dks n’kkZrk gSA fuEufyf[kr 

dh x.kuk dhft, % 

(i) ykHk&ek=k vuqikr 

(ii) mRiknu lhek&Lrj fcUnq 

(iii) dEiuh ykHk dks ` 60]000 ls c<+kuk pkgrh gS] rks fcØh 

D;k gksxh \ 

(iv) ykHk esa o`f) ;fn fcØh ` 30]000 ls c<+rh gSA 

(v) ` 90]000 dh vk; dekus gsrq bfPNr fcØh dh ek=kA 
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The cost-volume-profit relationship of a company is 

described by the equation y = 2,40,000 + 0.7x in which x 

represents sales revenue and y is the total cost. Find out 

the following : 

(i) P/V ratio 

(ii) Production Break-even point 

(iii) Company wants to increase profit by ` 60,000, what 

will be the sales ? 

(iv) Increase in profit if sales increase by ` 30,000. 

(v) Sales volume required to produce an income of  

` 90,000.  

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- 10000 ia[kksa ds fuekZ.k ds fy, ctV O;; fuEuor~ gSa % 

 ` izfr ;wfuV 

izR;{k lkexzh 60 

izR;{k Je 30 

ifjorZu’khy mifjO;; 25 

fLFkj mifjO;; ` 1]50]000 15 

izR;{k ifjorZu’khy O;; 5 

foØ; O;; ¼10% fLFkj½ 15 

iz’kklfud O;; ¼lHkh mRiknu Lrjksa ij 
` 50,000½ 5 

forj.k O;; ¼20% fLFkj½ 5 

;ksx;ksx;ksx;ksx    160 
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lhekUr ykxr vkSj lEiw.kZ ykxr dks i`Fkd~ izdV djrs gq, 

6000] 7000 vkSj 8000 ia[kksa ds fuekZ.k ds fy, ctV rS;kj 

dhft,A 

For the production of 10000 fans the following are 

budgeted expenses : 

 ` per unit 

Direct Materials 60 

Direct labour 30 

Variable overhead 25 

Fixed overhead ` 1,50,000 15 

Direct variable expenses 5 

Selling expenses (10% fixed) 15 

Administration expenses (` 50,000 rigid 

at all levels of production) 5 

Distribution expenses (20% fixed) 5 

Total 160 

Prepare budget for the production of 6000, 7000 and 8000 

fans showing distinctly marginal cost and total cost. 

vFkokvFkokvFkokvFkok    

(Or) 

ctVu dk vFkZ crkb,A ,d vPNh ctV iz.kkyh esa D;k 

fo’ks”krk,¡ gksuh pkfg, \ 

Define budgeting. What are the requirements of a good 

budgeting system ? 
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bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- ,d fuekZ.kh laLFkku ftlus izeki ykxr fof/k viukbZ gqbZ gS] 

fuEufyf[kr lwpuk,¡ iznku djrk gS % 

ekud % 

80 fdxzk- fufeZr eky ds fy, lkexzh 100 fdxzk 

lkexzh dk ewY; ` 1-20 izfr fdxzk 

okLrfod % 

mRiknu    240000 fdxzk 

lkexzh iz;qDr  315000 fdxzk 

lkexzh dh ykxr ` 3]46]500 

Kkr dhft, % 

(i) lkexzh mi;ksx fopj.k 

(ii) lkexzh ewY; fopj.k 

(iii) lkexzh ykxr fopj.k 

A manufacturing concern which has adopted standard 

costing furnishes the following information : 

Standard : 

Materials for 80 kg finished product 100 kg 

Price of materials ` 1.20 per kg 

Actual : 

Output    240000 kg 

Material used  315000 kg 

Cost of materials ` 3,46,500 
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Calculate : 

(i) Material usage variance 

(ii) Material price variance 

(iii) Material cost variance 

vFkokvFkokvFkokvFkok    

(Or) 

izeki ykxr fof/k dks ifjHkkf”kr ,oa Li”V dhft,A izekiksa ds 

fofHkUu izdkj D;k gSa \ mudks Li”V dhft,A 

Define and explain standard costing. What are the 

different types of standards ? Explain them. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

DD–2046  6,200


